
Spiel 1 Spiel 2 Gesamt

Spiel 054 19:19 E 1 KRAHOFER Bernhard 61 + 42 = 103 # #

E 2 WIMMER Gottfried 58 + 62 = 120 # # O

Spiel 056 19:36 E 3 HINTERSTEINER Gerhard 53 + 51 = 104 #

E 4 OFENBERGER Leo 67 + 48 = 115 #

Spiel 058 19:53 E 5 ZICKERHOFER Robert 60 + 67 = 127 # #

E 1 KRAHOFER Bernhard 60 + 60 = 120 # O

Spiel 060 20:11 E 2 WIMMER Gottfried 53 + 53 = 106 #

E 3 HINTERSTEINER Gerhard 54 + 54 = 108 #

Spiel 062 20:27 E 4 OFENBERGER Leo 51 + 47 = 98 # O #

E 5 ZICKERHOFER Robert 57 + 62 = 119 # #

Spiel 064 20:44 E 1 KRAHOFER Bernhard 62 + 56 = 118 O

E 3 HINTERSTEINER Gerhard 56 + 55 = 111 # O

Spiel 066 21:00 E 2 WIMMER Gottfried 39 + 51 = 90

E 4 OFENBERGER Leo 59 + 52 = 111 # # O

Spiel 068 21:19 E 3 HINTERSTEINER Gerhard 51 + 65 = 116 # #

E 5 ZICKERHOFER Robert 51 + 53 = 104 # O

Spiel 070 21:34 E 4 OFENBERGER Leo 46 + 57 = 103 #

E 1 KRAHOFER Bernhard 50 + 66 = 116 O

Spiel 072 21:51 E 5 ZICKERHOFER Robert 64 + 51 = 115 #

E 2 WIMMER Gottfried 55 + 49 = 104 #


